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Some Fruity Sums


    �  �   �    �





An orange weighs 250g.


A pineapple weighs 0.6kg.


2 apples weigh 320g.


3 bananas weigh the same as a pineapple.





How much does a banana weigh?








How much does an apple weigh?








How much heavier than an apple is a pineapple?











How much do 3 apples and an orange weigh?











What is the difference in weight between a pineapple and 


1 banana with 3 apples?




















[image: image2.emf]

[image: image3.emf]

[image: image4.emf]

